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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark the answer on your answer sheet.

1-  But at this point, it’s pretty hard to hurt my .........c......... . I’ve heard it all, and
I’m still here.
1) characterization 2) feelings
3) sentimentality 4) pain

2-  Be sure your child wears sunscreen whenever she’s .....cccveevviianns to the sun.
1) demonstrated 2) confronted 3) invulnerable 4) exposed

3-  Many of these popular best-sellers will soon become dated and .................. , and
will eventually go out of print.
1) irrelevant 2) permanent 3) fascinating 4) paramount

4- The men who arrived in the ...........couvue..n. of criminals were actually undercover
police officers.
1) uniform 2) job 3) guise 4) distance

5-  Itwas more ....ccceeeveennnnanns to take my meals in bed, where all I had to do was push
away my tray with its uneaten food and fall back upon my pillows.
1) haphazard 2) reckless 3) convenient 4) vigorous

6-  Hisvictory sparked arare waveof .................... in his home country. Nicaraguans
poured into the streets, honking car-horns and waving the national flag.
1) serendipity 2) tranquility 3) aspersion 4) euphoria

7-  He liked the ease and glitter of the life, and the luster .................... on him by
being a member of this group of rich and conspicuous people.
1) conferred 2) equivocated 3) attained 4) fabricated

PART B: Cloze Test

Roman education had its first “primary schools™ in the 3rd century BCE. but they
were not compulsory ...........c....... (8) entirely on tuition fees. There were no
official schools in Rome, nor were there buildings used specifically for the
purpose. Wealthy families .................... (9) private tutors to teach their children



Y axao 156 C TPV o) Sl | cwdigeo

at home, while less well-off children were taught in groups. Teaching conditions
for teachers could differ greatly. Tutors who taught in a wealthy family did so in
comfort and with facilities; .................... (10) been brought to Rome as slaves,
and they may have been highly educated.

1) which depending 2) and depended

3) for depended 4) that depended

1) have employed 2) employed

3) were employed 4) employing

1) some of these tutors could have 2) because of these tutors who have
3) that some of them could have 4) some of they should have

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

11-

12-

PASSAGE 1:

In the Philippines, the motorized tricycle is one of the most common means of
public transportation. Motorized tricycles are exposed to a repetitive stop and go
motion especially on the tricycle since the road scenario in most areas is
characterized with moderate to heavy traffic most of the time. This states that the
tricycle utilizes the braking system often, thus wasting energy due to braking. Heat
energy loss is always present in the braking system of a vehicle; due to this
phenomenon. a method was developed to recover and store the energy loss due to
the friction in the brakes. With the use of the regenerative braking, the energy loss
due to braking could be stored for another use.

Regenerative braking is a type of braking system that can recover and store the
kinetic energy produced by the car and convert the recovered energy into either
mechanical or electrical energy. In order to store the kinetic energy recovered by
the braking system, a mechanical component called flywheel is used. The amount
of the kinetic energy that may be gathered depends on the inertia and the speed of
the rotating mass or flywheel; this energy is stored as a rotational energy. With the
concept of the flywheel and the regenerative brakes, the mechanical kinetic energy
recovery system (KERS) is utilized. KERS is a system that recovers and stores the
kinetic energy that would be otherwise converted to heat energy during braking
and use it for other applications in the vehicle.

The word “exposed” in paragraph 1 can best be replaced by .................... .

1) invulnerable 2) indispensable 3) designed 4) subject
According to paragraph 1, which of the following statements is true if regenerative
braking is used?

1) the energy loss due to braking could be stored for another use.

2) the breaking efficiency of the vehicle is tremendously increased.

3) the balance of the vehicle, while breaking, is maintained.

4) the friction in the vehicle can be reduced.
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13-

14-

15-

16-

17-

The word “it” in paragraph 2 refers to .......ccccueee...e.

1) braking 2) system

3) kinetic energy 4) heat energy

According to the passage, all of the following statements are true EXCEPT that

1) KERS recovers and stores the kinetic energy that would be otherwise converted
to heat energy during braking.

2) Flywheel is an electrical component that prevents the vehicle from overheating.

3) The flywheel stores the kinetic energy recovered by the braking system.

4) Heat energy loss is always present in the braking system of a vehicle.

Which of the following best describes the tone of the passage?

1) Passionate 2) Ambivalent
3) Objective 4) Ironic
PASSAGE 2:

One of the most diverse and versatile engineering fields, mechanical engineering
is the study of objects and systems in motion. As such, the field of mechanical
engineering touches virtually every aspect of modern life, including the human
body, a highly complex machine. [1] The role of a mechanical engineer is to take
a product from an idea to the marketplace. To accomplish this, the mechanical
engineer must be able to determine the forces and thermal environment that a
product, its parts, or its subsystems will encounter; design them for functionality,
aesthetics, and durability; and determine the best manufacturing approach that will
ensure operation without failure. [2]

Mechanical engineers play key roles in a wide range of industries including
automotive, aerospace, biotechnology, computers, electronics, energy conversion,
robotics and automation, and manufacturing. The American Society of Mechanical
Engineers (ASME) currently lists 36 technical divisions, from aerospace
engineering to textile engineering. [3] The breadth of the mechanical engineering
discipline allows students a variety of career options beyond the industries listed
above. Regardless of the particular path they envision for themselves, a mechanical
engineering education empowers students with creative thinking skills to design
an exciting product or system; analytical tools to achieve their design goals; the
ability to overcome all constraints; and the teamwork needed to design, market,
and produce a system. [4]

The word “motion” in paragraph 1 is closest in meaning to .................... .
1) theory 2) factory

3) laboratory 4) movement

The word “its” in paragraph 1 refers to .......ccceceuvnnens

1) product 2) durablllty

3) environment 4) marketplace

The passage mentions all of the following EXCEPT ........cccvvvvveen .

1) automation 2) durability

3) analytical tools 4) critical thinking
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19-

20-

21-

22-

According to the passage, which of the following statements is true?

1) The education mechanical engineering offers to students of each technical
division is completely different from that of other divisions.

2) The role of a mechanical engineer is not confined simply to the functionality of a
product.

3) Mechanical engineering, as a discipline, is limited in scope, as it is confined to
a certain narrow aspect of human life.

4) ASME is a key institute in designing the curriculum for engineering students.

In which position marked by [1], [2], [3] or [4], can the following sentence best be

inserted in the passage?

These valuable skills can be applied to launch careers in many other fields, such as

medicine, law, consulting, management, banking, and finance.

D [1] 2) 2] 3) 3] 4) [4]
PASSAGE 3:

Tracing the beginning of a subject is like tracing the source of a river —the Thames or
the Danube say. But the Danube has its place that is pointed to as its
start -Donaueschingen - and Computer Aided Design (CAD) does too. Mechanical
engineering has the distinction of being the discipline which fathered the birth of
CAD, 30 years ago. MIT provided the fertile ground. In the early 1950s, the Computer
Applications Group of the Electronic Systems Laboratory (formerly the
Servomechanisms Laboratory) pioneered paper tape control of machine tools leading
in the later 1950s to the development at I'TRI of the APT language for automatic
programming of tool movements.

In 1958, Dwight Baumann and Steven Anson Coons of MIT Mechanical
Engineering approached Douglas Ross of MIT Computer Applications Group, “to
see whether it might be possible to take another important step beyond APT.,” then
want to use the computer “in a much more direct and powerful way in the chain of
events that begins with the original concept as envisaged by the designer and
culminates in the production of the finished device”, words which were far-seeing.
At that 1958 meeting, a system was outlined that would bind man and machine “in
an intimate co-operative complex. a combination that would use the creative and
imaginative powers of the man and the analytical and computational powers of the
machine each with the greatest possible economy and efficiency.” They envisaged
the designer inputting at the screen, calling for structural analysis, for tests of
clearance between adjacent parts or for calculations to optimize the design.

According to paragraph 1, which of the following statements is true?

1) It was roughly 30 years ago that mechanical engineering emerged as a discipline.

2) Mechanical engineering played an indispensable role in the emergence of CAD.

3) Identifying the beginning of a subject is impossible, like tracing the source of a river.

4) MIT was in fact the fertile ground where mechanical engineering reached its
culmination as a discipline.

Why does the author mention the Thames and the Danube in paragraph 1?

1) To illustrate a point in the passage further

2) To mention two rivers where mechanical experiments are conducted

3) To mention two rivers, which remind the author of his home country

4) To draw attention to the environmental aspects of mechanical engineering



¥ dzao 156 C TPV o) SWilo cwdiieo

23-

24-

25-

According to the passage, which of the following statements is true?

1) Dwight Baumann and Douglas Ross were colleagues at MIT Mechanical
Engineering department.

2) The MIT meeting, which took place roughly in the mid-19th century, was an
important event in the development of CAD.

3) In the meeting of the three MIT-affiliated figures in 1958, a system was
proposed in basic form to combine the computational powers of the machine
and the creative powers of man.

4) The Servomechanisms Laboratory previously known as the Computer Applications
Group of the Electronic Systems Laboratory played a role in the development of APT.

Which of the following words best describes the author’s attitude to the meeting in 1958?

1) Ambivalent 2) Approving

3) Disapproving 4) Ironic

The passage provides sufficient information to answer which of the following

questions?

I. In which country are the rivers Thames or the Danube located?

I1. What was the factor that led to the development of a language used for automatic
programming of tool movements?

II1. Who is considered to be the father of mechanical engineering?

1) Only I 2) Only II 3) Only 111 4) IT and III
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